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QUESTION 1

Click the exhibit.

CSC-PE1 CSC-PE2
AS 2000

AS 1000
(MPLS VPHN)

AS 10
192.168.10.1

AS 10
192.168.20.1

A Carrier Supporting Carrier (CSC) VPRN is configured for a customer carrier who is a BGP/MPLS service provider.
Which of the following describes the routes present in PE1\\'s global routing table?

A. The system address of PE2 is present. The system addresses of CSC-PE1 and CSC-PE2 are not present.
B. The system addresses of PE2, CSC-PE1 and CSC-PE2 are all present.

C. The system address of CSC-CEL1, the route 192.168.10.1, and the route 192.168.20.1 are all present.

D. The system address of PE2 and the route 192.168.20.1 are present.

Correct Answer: A

QUESTION 2

Click the exhibit.

VRN A VPN A

Routers RR1 and RR2 are configured as route reflectors. For the inter-AS model C VPRN, which of the following about
the BGP sessions established between the routers is TRUE?

A. ASBR2 has a total of three BGP sessions established: one with PE2, one with RR2, and one with ASBR1.

Latest 4A0-106 Dumps | 4A0-106 Study Guide | 4A0-106 Braindumps 214


https://www.geekcert.com/4a0-106.html
https://www.geekcert.com/4a0-106.html
https://www.geekcert.com/4a0-106.html

VCE & PDF https://lwww.geekcert.com/4a0-106.html
2024 Latest geekcert 4A0-106 PDF and VCE dumps Download

GeekCert.com

B. RR1 has a total of three BGP sessions established: one with PE1, one with RR2, and one with ASBR1.
C. PE2 has a total of two BGP sessions established: one with RR2 and one with ASBR2.
D. PE1 has a total of two BGP sessions established: one with RR1 and one with PE2.

Correct Answer: B

QUESTION 3

Click the exhibit.

Lk:CE-1# show router bgp routes

BGP Roucer ID : 10.10.10.76 ES : 65200 Local &S : 65200
Lagend -

Status codes : u - used, 3 - suppressed, h - history, d - decayed, * - wvalid
Origin codes : i - IGP, = = EGP, ? - incomplete, > = heat

BGP Routes
Flag MNetwork Nexthop LocalPref HMED
VPN Lahel hs-Pach

uTs? 10.1.2.0/24 10 1613 none nones
65100 65100

u*>? 10.10.10.78/32 3 b B e s none none
65100 65100

uv>i 10.32.1.0/24 10.16:.1.1 none nons

65100

Assuming that the as-override command is used, what is the most likely location of prefix 10.1.2.0/24?
A. The prefix is located in an Autonomous System directly connected to this router.

B. There is a single Autonomous System between the local AS and the AS that originated the prefix.
C. There are two Autonomous Systems between the local AS and the AS that originated the prefix.

D. The prefix is located in Autonomous System 65100.

Correct Answer: B

QUESTION 4

When using the AS-override method to prevent BGP loops in VPRNSs, where should the "as-override" CLI command be
configured?
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A. On the PE facing the CE neighbor
B. On the CE facing the PE neighbor
C. On the P facing the PE neighbor

D. On the PE facing the PE neighbor

Correct Answer: A

QUESTION 5
Choose the best answer to describe the result of the configuration of an Alcatel-Lucent 7750 SR shown below?

A. The PE will install a maximum of 40 prefixes into the customer vrf and generate a log message when 40 routes are
received

B. The PE will install a maximum of 40 prefixes into the customer vrf, and generate a log message both when 30 and 41
routes are received

C. The PE will install a maximum of 40 prefixes into the customer vrf, generate a log message when 10 routes are
received and disable learning of new routes at 41

D. The PE will install a maximum of 40 prefixes into the customer vrf, generate a log message when 10 routes are
received and drop the connection at 41

E. The PE will install a maximum of 40 prefixes into the customer vrf, generate a log message when 4 routes are
received and disable learning of new routes at 41

Correct Answer: E
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